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Please shiow work on ab questions for partial credit even on quesitens which a{fr m_'.-Lgcc'Lfy. [ wall only grade

legiblc answers hevause H T can’l read your answer, 1 obviously cannot grade it. NO TXCEPTIONS. {25 pis)
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1. Keeping in mind the general reaction mechanism ol the addition of a aucleophile 1o a ketone or

aldehyde, compicts he fotlowing reaction mechanism.  (MECHANISM means y oy show all intermediates.  [F
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. Give the structural lormula of the Ohrganic Product. Circle the lotter of ihe 5 reaction which vou
want countted. Write EC by the one reaction which you wanr counted as dn ¢XIIa credit prablem 1 you do not
choose, T will just arade the [irst 5 reactions and grade the 6P gz extra crediL{EC worth 4 o3 pfs each, 13 pls}
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Please show work on ali questmm for par‘rnl credit even on queatmns which do not arn,ufw T will aly grade
legille answers becauss i [ can’t read your answer, 1 obviously cannot grade it, NO FXCEPTIONS, 123 pls)

l. Keeping in mind the general resctiom nrechanism of the addition of w nucico phile to a kelone or
aldehyde, compleie the following reaction mechanism,  (MECHANISM means you show all intermediates, [F
vora just give rsaction praducts, veu will LOSE LOTS OF POINTS.) (10 pls}
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2 Give the strueterad formula of the Organie Product. Circle the number of the 3 reaction which vou

swant counted. Write 1oC by the one reaction which you want counled as an extra credil problem If you do not
choose. [ will just grade the fiest 3 reachons and prade the &M as extra credil.(FC worth 4 pts) (5 pls cach,15 pls)
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Please show work on all yueslions for parudl credil even on quesiions which do not specify. | will only yrade
legible answers because i1 can’t read your answer, 1 obviously cannot grade it. NO LXCLPTIONS. (25 pts)
N . | g o xelo
1. Keeping in wind the general reaction mochanism ol the addition of a nucleophile to a kelone or
aldchyde, complete the following reaction mechanism.  (MUCHANTSM means you 5}10“ d.ﬂ intermediates,  JF
you just pive reaction products, you will LOSE LOTS OF POINTS.) (10 pts) ' P
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2. Give the structural formula of the Organic Product, Cirele the lettey of the 5 reaction which vou
want connted. Write EC by the one reaction which you want counted as an extra credit problem I yoeu do not
choose, T will just grade the first 5 reaclions ind grads the 6™ as extra eredin(LC worth 4 pis)(5 pts cach. 15 pls)
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Please show work on ailﬁﬁcsﬂoﬁ"s for partial credii cven on questions which do net specify. [ will 011”1-},'- grade
legible answers because if T can™t read your answer, L obviously cannot grade il. NO EXCEPTIONS. (25 pls)

1 Keeping in mind the genersl reaction mechanism of the addition ol"a nuclcophile to a ketone or

aldehyde, complele the following reaction mechanism. (MECHANISM means you show all intermediates.  1f
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2. Give the structural formula of the Organie Product. Cirele the nnmber of the § reaciton which you
want counted, Write EC by the onc reaction which you want counted as an extra eredit problem If you do not
choose, T will just grade the first 3 reactions and grade the 6™ as exira credit.(LC worth 4 pts) (5 pls each,15 pls}

[} CHyO-H + CHsCH-O 4 /1RO
{show all possible producls)

2y CIGOCH:CH2CHs + H Br (large excess) —

3y Cle__ _H CH
Clly—A—T— 11 -T1C1
H I

I

4 )
11 ?‘&(‘“—‘H CHi My Br
\H y 3

!
$) Clls-L-I1  Liallls

R

’_,@ IL\
6) CH+{—H CH; C,Hz?\l :
I.

G @
7y 1 b—@—ll Cl—bCHz-{C—-—P«Pm —7
'I'..



